BEFTBEEEEE

SH6EIA D RBRIMEZTIEIK
~ 202443331 AT
=1 ERT .. = Rt ..
= |% Wl 38 m T e mE 5% B 3A T e |MER
S 7 7 T K T = 1 7 3 -
(RAKEEE ) 1 1 2 & T & 3 5 1
% ﬁ e
= [ ZOM@EBETE 1 1 1
XM - A B G 1 1 0 5 8 4 4
R % B = T -1
KU T - i 2 1 1| |48 & ® = 2 2
TS T E B 5 W 5 ) 6 3
1| = o 2 i e 5 9 9
= £ -t & B E & MR 1 1 1
% 3 slE 2 ® =
¥ % = & 2 =2 0 5t 1 1 1
% ] 6 8 B £
— & W 4 1 3| |6[# % 1 -1
E 5 & W 3 3 0 e 1 -1
EXEX 2 2 Tk & - & &
B RAKE T 1 o
FRMDEEE 1 1 N5 OE 5 9 8 1
i i 26 17 o| |8z mums 4 8 4 4
AR = 1 1 w B 2 4 1 3
— ~lE W ivitvR 1 3 -2
x T & W EREl | RESEAEE
- & 3 x 2 P remTsE P |z 4 o B 1 ) 1 1
BEE A LEBE 2 4 4
anc | g% x|zomoEES 10 16 8 8
ZoM TREE (FEEL) 2 10 1 9
WA m = 24 5 27 18
=0k | BRE %w & =] 440 90| 59| 3
Zot —
BEE L R 1% F R "
AL [ @R - & 5 s & B [oE ] sm P
Zoh % ]
WEE — B & W D 1
zott | @F E & & W
Z0h K
WEE Zomo E &
& & [ @az S E D] 1
Zot
JA— )7 hRE 3R GEEEHEE RIS L SEEIKE 3A 555?“2& AL
£l & E3 73 23] 24] -1
1B 2] *x 1 1
AR ER 1 -1 HEIOFIAILRIZEDEDIERC
S =T 1 AN ON D (LT 3 THE
KEDMDEXE

8.3EERX B 4ZDMOEE IR - REX 10ME - ERIE 11EEE 1285 - HRE 13 1EEREX 13.370MORBHEEE
143 ZDMOEFBREEDS B4 1OTLIHLUSN 16EXE 17.2Z0M0EX




